G5-T

i2-Lesson 21

1. Divide. Then check using multiplication.

38

1 can find the estimated quotient and then divide using the long
division algorithm.

a. 235+68

| can estimate to find the quotient. 210 + 70 = SJ

I'll use the quotient of 3. 3 groups of 68 is 204, and the difference
between 235 and 204 is 31. The remainder is 31.

Check:

3 R21
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3 1 x | 3 +
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{ After checking, | see that 235 does match the original dividend in the problem.

| estimate to find the quotient. 120 + 30 = 4. Therefore, there shoulid
b, 125+32 be about 4 units of 32 in 125.

When | use the estimated quotient of 4, | see that 4 groups of 32 is. 128. 128 is more than
the original dividend of 125. That means | over estimated. The quotient of 4 is too high.

Since the quotient of 4 is too much, 'l
try 3 as the quotient. 3 groups of 32is
96. The difference between 125 and
96 is 29. The remainder is 29.

Lesson 2%: Divide two- and three-digit dividends by two-digit divisers with single- EUREK &
digit quotients, and make conneckions to a written method. M ATH"‘
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To check, I'll multiply the divisor and the

Check: quotient and then add the remainder.
3 2 9 &
3 + 29
9 6 i 25

i can use division to find how many 49's are in
159. First, | should estimate to find the quotient.
i50+-50=3

2. How many forty-nines are in one hundred fifty-nine?

R12 There are 3 groups of forty-nine in 159, with a remainder of }
~ 12

12 is the remainder, and it will need 37 more to make another
group of 49.

=
(il
:l

Pyl i

!
Ry
WY

There are 3 groups of forty-nine in 159,

EUM“ Lesson Z1: Divide two- and three-digit dividends by two-digit divisors with single- 35
M ﬁTH“ digit quotients, and make cofinections to a written metfiod.

©2015 Great Minds, eurcka-inath.crg
G5-M1-HWH-1.2.0-07.2015




